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RATIONALIST TALENT SEARCH EXAM 2018

STD:VI of:gdl Roll No.

Date of Examination : 11 February 2018, Sunday
glgnefferdt g=A / Guidelines for the Candidate

1. U9 Yftaehdict Te U9 SIS AT et Faser Wt e we.
Please make sure that all questions are printed properly in Question booklet or
not.

2. YT AT & TRET SHATERTE ek UTHiehT (e TeaT=l W Shied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangd fageneatn e dyut Al Wt wvarEdt 30 fafRe it as qvam
EES

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQ IGRETRALE TRUT 100 T ST Tedkeh TYETS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. Yeheal ScIagge! MasTeiedl TN $Haeare! Sehi T[0T Tl het
HTUTR ATEH.
All questions are compulsory. There is no negative marking.

6. SIUCHATY ! TR [HeaTeaTH W T Tl
Check to make sure that you have received the appropriate test booklet for your standard.

7. UATEMER thaes Tehd el sRIeR TR, SNieR ScRTETs! Uehe

There is only one correct answer. Choose onIy one option for an answer.

8. IcalTaN U WIUATHTS! Sheles hiest / fHest T SieTa=<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........covrvecrrcenennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO| [«x @GO @]
9. UM HUCHTER gl ScUTIhT THALTERIEhE IR SHUTal.

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTIET URET SHHTH TITYREThar GEaT ToTeTal a Het TYgieceht URET ShicTaeiFaR e diad
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Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




A) TEUTEH B) UTfeREaT™ C) AUt D) YR
Today in which of the following country Harappa and mohen-Jo-Daro are-

A) Afghanistan B) Pakistan C) Nepal D) India
FEATH TR S hid HIeT ?

A) Ffert B) 9Tt C) Heu™ D) AR
Vardhaman Mahavir was born at -

A) Lumbini B) Vaishali C) Kundagram D) Sarnath
ST9HR” 1 AT HETHUER 3Ngfeh 1a whiurd ?

A) TEEQ B) WX C) 35 D) 3iTTae
Which one of the following is a modern name of mahajanapada ‘Ashmaka’?

A) Gorakhpur B) Mathura C) Ujjain D) Aurangabad
g s A9 digy gmr faadl aiug Sreraet gid.

A) UTEE B) SSwItat C) Tt D) Aersfien
Emperor Ashoka convened a third religious council of Buddhism at .

A) Pataliputra B) Ujjayani C) Toshali D) Takshashila

g’ g1 Fert Tamsft Eielictieh! ShiuTean HieTa SRATd 3TeT gdl.

A) T B) gWaei C) & TIg D) 19Tk
Fa Hien, the Chinese traveler visited India during the reign of .
A) Samudragupt B) Harshvardhan C) Chandragupt Il D) Ashoka
J@E RO TN ST et Ush Wit QU 31

A) A ESL C) sfieiem D) WRd
Concept of ‘zero’ is a big gift of to the world.

A) China B) Egypt C) Shrilanka D) India
“STAITE’ T U WieiieTdeh! Shivft fetfgett ?

A) TEER B) IfeTaTd C) vk D) Sered
Who wrote the famous “Arthashastra”

A) Varahamihira B) Kalidas C) Shanku D) Kautilya
Tt fesRmieca=an TStei=! e hivTd ?

A) TS eSS C) 3 D) TATE
Name the capital of King Vikramaditya?

A) Kanauj B) Ujjain C) Agra D) Raigad




10.

11.

12.

13.

14.

15.

16.

17.

ufgelt Teizmaer € Wefieiten! ShivTen Jue TRIeTea Tuehlei gl ?

A) SITeR B) I C) STheR D) WgRtR
Elizabeth | was contemporary of which mughal ruler?

A) Babar B) Humayun C) Akbar D) Jahangir
whiuTTeR TR ol e ?

A) RGZ @ U B) 9Nk C) @& D) IfStenia Aigtud
Konark Temple was built by?

A) Narasimha Deva | B) Ashoka C) Kharavela D) Shashikanta Moharapta
ARATS Wiletesh 9% guTere it fomet ot

The geographical area of India is million Sq.km.

A) 2.38 B) 3.08 C) 3.28 D) 3.88

T AR ACAERUNAA godl AOHE d@d en e 379 TEUTT.

A) 3T 91 B) EReRIE AL, C) vitd A D) &Ra shict A
The gases due to which the temperature increases in the atmosphere are called

A) Ozone gas B) Greenhouse gas  C) Cold gas D) Green revolution gas
gesfenig R W YT SATIAAT 3T

About of the surface of the earth is occupied by water.

A) 70.80% B) 71% C) 80.70% D) 81%
a1 GE™ 3.

A) TR B) feadiaeh C) mafies D) TqYh
Fishing is a occupation.

A) Tertiary B) Secondary C) Primary D) Quaternary
gefifwrh Ssiseher 9 frora 3

A) TRTRY B) TeTE C) THIET D) \fUTeRtuT

Geo thermal energy project is located at .

A) Tarapur B) Golmud C) Koyna D) Manikaran
RUCICRC o B T e AT

A) A B) C) TR D) Ut

There are major seasons in India.

A) Two B) Three C) Four D) Five

Haid WISt WE HIUTdT ?

A) ThG B) aTfSmn C) 2ferm M D) SATTSheRT
Which of the following is the largest continent?

A) Europe B) Assia C) South America D) Africa




18.

19.

20.

21.

22.

23.

24,

25.

3ieaT fauTeen Taid Waes e 39T SHIUTT ?

A) et BDESEINER C) FFHR D) UTfeREa™
Which foreign country is closest to Andaman Islands?

A) Shrilanka B) Indonesia C) Myanmar D) Pakistan
WeieTdeh! 31k et fae.

A) 3TEM — TR B) &V W91 — femdy

C) Brgu - emrae D) ATTTetE — Brettn

Which of the following is correctly matched?

A) Assam - Itanagar B) Arunachal Pradesh — Dispur

C) Tripura — Agartala D) Nagaland - Shillong

WA Uh! ShIUTeT TSATA ST Tk IcaTe et I ?

A) ST B) TSTEA C) Aoty D) WEgRTSE
Which of the following is the largest producer of Sugarcane in India?
A) Uttar Pradesh B) Rajasthan C) Manipur D) Maharashtra

geefiean ATaTaRuT 31T ot fsshia s s ot oig ?

What is percentage of argon gas in the air?

A) 21% B) 0.03% C) 0.07% D) 0.93%
WIeeTueht Y188 4T ShIVTAT ?

A) g B) wIal C) D) ateTuht |al
Which one of the following is a pure substance?

A) Iron B) Silver C) Copper D) All of these

A I T GHIRTIEAT HHEAT 3 gRagearean Hed 4 R shivareal Saeddedt Tishael s

TEUTATA ?

A) HIATTT B) T C) vaE D) JeRTIT HYATUT

By which of the process plants prepare their own food in the presence of sunlight with the help of
chlorophyll?

A) Synthesis B) Reproduction C) Respiration D) Photo Synthesis
_ yrfhes Werek 91 et WE.

A) TTEIA B) it c)feR D) licT<h! @

Which one of the following is the primary consumer?

A) Plants B) Deer C) Lion D) All of these

Wrer=am=! OOt g1 T ShiuTdT TR AT,

A) THEBTHRR Tt B) 3ATaIfeTd Tt C) Faqefer Tt D) Argiene Tt

Motion of a top is an example of:
A) Circulatory Motion B) Oscillatory Motion
C) Periodic Motion D) Random Motion

( 2 )
L 3 J



26.

27.

28.

29.

30.

31.

32.

33.

AT O T e

INSIE S B) C) His D) qY

Which one of the following is a compound?

A) Wood B) Air C) Salt D) Milk

qrudTa 7 feReresuT 9 ot ?

A) SHiferasH B) AIEINTA C) FIEASHRATFIEE D) SicTdeh! T
A gas that is insoluble in water is .

A) Oxygen B) Nitrogen C) Carbon Dioxide D) All of these
WTecTueh! GaehTehs Teh{Yd BIUTHI arq FHaer.

A) A B) wHATTECeh Ueel C) e D) G&h
Which of these will be attracted towards a magnet?

A) Iron B) Plastic scale C) Wood D) Book

o TS R bt et Tt 2d A

A) THHt B) ST C) @u D) &

The motion of an object thrown upwards gradually due to gravity.

A) Decreases B) Increases C) Remains Same D) Perpendicular
WeAiedeh! faier 7 SIevm stiewr.

A) IS T B) STATREH I C) e D) R

Which of the following does not run on electricity?

A) Washing Machine B) Air Conditioner C) Mixer D) Car

AT TEq TN 2 AT SHIUTe TehITel ISTELUT TR ?

A) Titea B) fere=an C) go=n D) ufgean
When we lift a weight in our hand we make use of a lever of order.
A) Fourth B) Third C) Second D) First

el ATTHHTEAT S TR FIUTRT Uered <hiorar ?

A) TToft B) A& C) Ut D) g4
Identify the substance which evaporates at room temperature.

A) Water B) Qil C) Petrol D) Milk
WIATEUh VT aTa WRATeht Frsia et ?

A) STEGFIAT B) SUTeY C) Sfaane D) Tifaht
Which one of the following is irrelevant as far as India is considered?

A) Untouchability B) Apartheid C) Casteism D) Poverty




34.

35.

36.

37.

38.

39.

40.

41.

42.

43,

44,

TRATfoTR< ShIEIhT fohd! oy 3Tl ?

A) T B) @R C) Ut D)3

The tenure of a municipality is years.

A) Six B) Four C) Five D) Two
UTYETIAE S hivT ST ?

A) T B) U=t C) TGN D) SficTd<h! @
Who is the head of a village Panchayat?

A) Sarpanch B) Panch C) Gram Sabha D) All of these

Choose the correct option which best expresses the meaning of the given words synonym.
EMPTY -
A) Vacant B) Full C) Angry D) Space

Fill in the blank with correct word.
The train has started.
A) Now B) Lately C) Just D) Further

Choose the one which can be substituted for the given words/sentence.
A man whose wife is dead -
A) Widow B) Widower C) Divorcee D) Murderer

Select the incorrect match.
A) Earn X Spend B) Arrival X departure C) Dead X alive D) Offence X Disloyal

Find out the verb in the following sentence.
The policemen arrested the thief.
A) The B) Policeman C) Thief D) Arrested

Find the correct feminine gender for the word given below.
Stag
A) Lady B) Hind C) Cow D) Queen

Choose the correct linking verb to complete the blank space.
she on the roof?
A)ls B) Are C) Am D) Were

Al Y@ U’ a1 AR 9 g o Fae.
A) AR RGO B) SieTd Heul C)aReA TR A0 D) YT A0l

Wil T THF T8 I1se Ine:
JATRTIT
A) =M B) 3R C) W NELS




45,

46.

47.

48.

49.

50.

51.

52.

53.

54,

55.

AN fda@ — I AATATS HUTAT HTRTINER I1ee AU ?
A) geit feas B) HuTr=n fe® C) Tr=aren fee|m D) "HRHTeN feaw

Trefte vregren faeegnefi visg vhem:
Fgan X
A) StequT B) 31U C) ¥aTEqun D) diet

WA IR YT Ueh TgUT 3118 ot 3iest.
A) AT FE 60N B) WIUTEN U U0l C) T AR D) SR €12

A) TS B) AT C) ATD D) Toft

WA J[£E IT63 hIUTAT ?
A) G B) gel C) gam D) gehua

Choose the best option to fill in the blank.
All the children were very Punctualand ____ was late.
A) anybody B) everybody C) nobody D) somebody

1 . ‘
17Emmmwﬁzﬁaﬁm.
1
The decimal equivalent of 17; is

A) 17.625 B) 17.6025 C) 17.0625 D) 17.0525

4 foretdier 500 T\ w2urst feelt 2o 2

500 g is what percent of 4 kg?
A) 12.5% B) 25% C) 50% D) 125%

15, 30 & 45 = HETE e,

Find the HCF of 15, 30 and 45.
A) 10 B) 20 C) 15 D) 25

Teh &R 4 7@ 30 faffem 180 fort 3iaR ur s ¥ e am fehedi 2
A) 40 Tt/ @@ B) 45 fertlt/ @ C) 51 ferelt/ amm D) 90 femtft/ @&

A car covers a distance of 180 km in 4 hours 30 minutes, The speed of the car is
A) 40 km/hr B) 45km/hr C) 51km/hr D) 90 km/hr

Te fotet gu=h fofma 7.50 % @11y, W 30.5 fore gumeh forma ferctt 2

A)225.75% B)223.75% C)228.75% D) TTa<ht AT
The cost of 1 lit. milk is Rs.7.50, then the cost of 30.5 lit of milk is .
A) Rs.225.75 B) Rs.223.75 C) Rs.228.75 D) None of these




56.

57.

58.

59.

60.

61.

62.

WA TEAT A& ShAT T,

Arrange the following in ascending order.

7.2,7.02,4.6,2.369

A) 2.369,4.6,7.2,7.02 B) 2.369, 4.6, 7.02, 7.2
C)7.2,7.02,4.6,2.369 D) 2.369, 7.02,4.6, 7.2

Te feigaa SToTTn Rt e el Yo shTear Adter ?

A) Ueh B) 3 C) I D) TEEA
How many maximum numbers of lines can be drawn through one point?
A) One B) Two C) Zero D) Infinite

7 6 .
4000 + 500 + 8 +0 + — + —— = Tl &Y i@,
10 1000

A) 4508.706 B) 4507.705 C) 4509.707 D) 4508.715

Write the shortest form of the following:

7 6
4000 +500 + 8 +0 + — + ——
10 1000
A) 4508.706 B) 4507.705 C) 4509.707 D) 4508.715

WTeAeteh! 4, 6 HTT0T ¢ A T3 WA 0T |E&a STt ?

Find the least number which is exactly divisible by 4, 6 and 8?
A) 20 B) 40 C) 94 D) 24

Teh! deTed fudTet erat 705 foTe 3118 qut sReten Uumga sd 135.75 fevera 253.50 fotex
A) 720 ferex B) 300 forex C) 215.75 fo1® D) 315.75 fetex

A drum of oil has a capacity of 705 liters. Two containers of 135.75 liters and 253.50 liters capacity
are filled with oil from the drum find the Quantity of oil left in the drum?
A) 720 liters B) 300 liters C) 215.75 liters D) 315.75 liters

TehT T 9 Fereneat= o =i 42 Rreiim amg o atia Uent Aaiia fereenert=n wawn sren snfor
i fereeneats el oo 42.5 TR Sl T T Ta9T Sdeiedn faeaneait g fehdl ?
A) 46 Terett B) 47 feret C) 48 et D) 49 feremt

The average weight of 9 boys in a class is 42 kg, another boy joined the class and the new average
was found to be 42.5 kg find the weight of the new boy.
A) 46 kg B) 47 kg C) 48 kg D) 49 kg

46890 IT TEAAIA ‘4’ AT kTN S9! fohAd o LT fehAd ATeiel Wleh fehdl ?

The difference of place value and face value of 4 in number 46890 is -
A)4 B) 40000 C) 39996 D) 39969




63.

64.

65.

66.

67.

Teh ST YUT SHUATH 15 AT 20 fad @nTara o d i gut uamerst 5 Ao fedt e
RN ?

A) 6§ﬁa~a B) 3%&@ C) 60 feem D) 30 fe==

15 men could complete a work in 20 days, 5 men will complete the same work in

2 3
A) 65 days B) 3; days C) 60 days D) 30 days
WTeTeh! ThivTd TR 2:3:6 THIOT 3118
Which of the following ratios are equivalent to 2:3:67?

1 3 1

A) 4:6:18 B) T 1; C) 0.4:0.6:1.2 D) 12:24:36
T WU AT
Simplify:
-3+7+(-8)
A) 4 B) -4 )2 D) -2

WG T9 ST | Yot sHvararet arg uam FHaer.

In the following question, Find out which of the option completes the figure matrix.
a9 SIIW‘I/ Question Figure :

A
| 2
SN O

A) B) C) D)

&

WAt T9ATA TYATI-gTean SIRT ShHT- AU TRt ShIUT ?
Choose the option which will replace the question mark to complete the series.
a9 311@_&'1/ Question Figure :

] A
O 1@ O ?
v =
<400 mO> ner Oo»
A) B) C) D)
( 1
{1 8 J




e
WAt T9 TR 68 70 LA Ufgedn a gH-A1 UgHed A §ael 311, 6 qar day fow=en o <iiean
USHEN AT B T U UPATRIZrea ANt ShivTd Ug Age o Ine.

Instruction:
In the question below, 68 to 70 the first and second terms have a specific relationship; the same
relationship occurs between the third and fourth terms, which term will replace the question mark.

68. AZ:CX::BY:?
A) EV B) DW C) WD D) bV

:@::A: ?
@ W/ A

69.

A) B) C) D)

70. 9:729::11:
A) 1441 B) 1221 C) 1331 D) 1211

71, WS eheaed Teht fafdme Ramaem S AT heielt 3N  TeTd U3 TgAregrea Wl
JuTrdt T T FeE.

Find the missing number, if a certain rule is followed in the following figures.

19 8 21 7 24 6
912 882 ?
16 14 12

A) 1356 B) 862 C) 1434 D) 864

72,  STHIERI, TEIE T WA ATCATAIC! UTEIR HEel SIICUTRT S STehd < udi FHaet.

Select the Perfect Venn diagram option which indicated the best relation amongst America,
England and India?

O O O
0° °° @ .69

73. TS A SHUTR ST SHesET.

Choose the odd man out

A|B||C| D

A) A B) B c)C D) D




74.

75.

76.

77.

78.

HrareA TRt BrehiuTe v fohedt ome 2

Count the number of triangles in the following figure.

A) 10 B) 20 C) 15 D) 12

feetean wom sl TTvaTdiet St e fie o St ST Jne.

In the following Question choose the correct water image of the question figure from the answer
figures.

g 3Rl / Question Figure :

¥ ¥ ¥ &

S5=30,11=132,13=182W15=7

If5=30,11=132,13 =182 then 15="?
A) 225 B) 240 C) 285 D) 256

AT St .

Select the figure which is different

O ® O O

A) B) C) D)

WA U9 STTHA SR Tfdferet SR SATheameT e,
In the following question choose the correct mirror image of the Question Figure from the answer
figure.

g 3R/ Question figure:
E
B

Cw \ ey <

A) B) C) D)

10

——
| —



79.

80.

81.

82.

83.

84.

85.

86.

WA TgTd TFATFE=Al JRM shAM J0TRT gatd e

Which option will replace the question mark?

38, 45, 56, 69,?
A) 72 B) 82 C) 87 D) 86
¢ T AT SHIUTAT 37k 'agﬁ?
Which number will replace the = ?
5 6 7
300 (400 | 500
9 (10| 11
345|460 | 3%
A) 577 B) 535 C) 775 D) 755

TehT Hichideh WA SR GOOD T 9182 JTVM 31 feifgen @ =t |iehiaes Wwiiad MAKE & 9Tec shat

forgmere

In a certain code language ‘GOOD’ written as ‘JTVM. How is ‘MAKE’ written as that code?
A) PDNH B) PEQN C) PERN D) PFRN

ferama wees anesan.

A) STEI9TRE B) wifdrervTat C) sfagm@ D) TG

Find the odd man out.

A) Biology B) Physics C) History D) Chemistry

TehRt Yt T & WTesadt g, TR e i HgRTee fi shoTen and ome ?
A) HITE5AR B) T&AR ORJIEE D) TWER

In one year the Independence Day is on Tuesday. Then on which day was come Maharashtra Day
came in that year?

A) Tuesday B) Thursday C) Saturday D) Monday
YATITEaT SRt AUTHE T AT Heret.

Which option will replace the question mark.

35,45,7?,62,69

A) 53 B) 52 C) 54 D) 55

Teh! WS YR TSROt fehedt HATUE STerma ?

How many kidneys a human body consists of?

A) 1 B) 2 C)3 D) 4
Tfgem SATTeT=l TSALATHT ShHITe ?

A) TeTehedl B) TGS C) HaveR D) =18
Which is the capital of West Bangal?

A) Kolkata B) Lucknow C) Bhuvaneshwar D) Chennai

( 1
(L 1)



87.

88.

89.

90.

91.

92.

93.

94.

T A ShIUT 31T ?
A) g "G B) forera & C) ViR ATl D) 31601 Seeht

Who is the Chief Minister of Gujarat?

A) Narendra Modi B) Vijay Rupani C) Shankar Waghela D) Arun Jaitley
WRATEN A W5 ThIUTAT ?

A) ToheRe B) Fedicl ) 2= D) gi<ht
Which is the national game of India?

A) Cricket B) Football C) Tennis D) Hockey
ufed gl =R @ A1a woneht et e ?

A) TEEAT B) AR C) arad D) ¥I&ATS
With which option the name Pandit Hari prasad Chaurasia is associated?

A) Tabla B) Sitar C) Flute D) Shehnai
SR < iU ?

A) T B) TU C) D) SieR
Which is the currency of America?

A) Euro B) Rupee C) Yen D) Dollar
2017 = firm ae2 forara st Rieken 2

A) SHIcrT Fogr Ugert B) oft &t

C) AH Foreer D) T HAH

Who has been crowned miss world 20177

A) Kavita Malhotra Pattani B) Shri Saini

C) Manushi Chillar D) Swapna Mannam

WRATA AT 56 &1 GaRA G ShIUTeAT TREET TSR HUITd AT 7
A) 18 fear B) 21 fe&i=R C) 20 fEE=R D) 19 &&=

The 56™ Liberation day of Gao is celebrated on which date in India?

A) December 18 B) December 21 C) December 20 D) December 19

WRATE 48 &1 AW forde Hgicad hic ST ?

A) T B) & C) HAeh D) ufgem e
The 48" International film festival of India(IFFI) held at

A) Goa B) Kerala C) Karnataka D) West bengal
et ST A SUTEet SRt ?

A) T1.TH. 3TEEH B) S1.TH AR C) g Al D) FrER &

Who is the new vice chairman of NITI Ayog?

A) Prof.M.Aslam B) Dr.Rajiv Kumar C) Narendra Modi D) Shekhar sen

12
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95.

96.

97.

98.

99.

100.

AT TN T HASATHA AT THIUTal ?
A) o=l B) & C) s

Which is the most sensitive organ is our body?
A) Skin B) Ear C) Teeth

2017 = AiEed SHRTEH! GEERR SHIVTEAT STER ST ?
A) G 9T B) sffehia v I@ C) STENH e

Sahitya Akademi Award 2017 is announced to

D) S

D) Eye

D) 9T HFE

A) Sujata Deshmukh B) Shrikant DeshmukhC) Asaram Lomate

D) Shaym Manav

‘I AT TFHEY HIEaie IEh ShIUT T ?

A) 37E JESIcaH TS B) 1.311.8. |Gk C) WTeT=ig AATS D) S1. g Tz
Who is the author of famous novel “Kosala”?

A) Adv.Purushottam Khedekar B) Dr.A.H.Salunke

C) Bhalchandra Nemade D) Dr.Narendra Dabholkar

‘LBW’ 21 9152 ShIUTeaT TeAT9it Haferd S1Tg ?

A) Tereke ED C) Siefiien D) Gedtel
LBW is related to which sports?

A) Cricket B)Hockey C) Badminton D) Football
2016 == T ATATFIH HITTET I T ?

A) IRERT B) TeiE C) sghe D) WU

In which country Rio Olympics 2016 was held?

A) USA B) United Kingdom  C) Brazil D) Japan
T TSI g1 SFHEUE ShiuTea 29T 311 ?

A) feareerets B) MR C) A D) STHH
Tennis player Rafael Nadal belongs to which country?

A) Switzerland B) USA C) Spain D) Germany

SPACE FOR ROUGH WORK
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